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Event selection

* Good Charged Track:

|V,| < 10.0 && |V,.|< 1.0 && |c0s0|<0.93;
N¢oo.d ==3||4; (To improve detection efficiency: Missing one Kaon.)

- PID with dE/dx and TOF:

Kaon: prob_K>prob_p && prob_K>prob_m;
At least three Kaons are indentified:
N(Kt) =N(K)=2; or N(K*) =2 & & N(K) =1; or N(K")=1&&N(K) =2;

* Vertex fit (KtK'K%).
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(1) Xertexsit (KTK'KTKY) distribution;
(2) K_Missing Fitting :

Signal: MC® Gaussian;
Background: Polynominal;

N=3404.6180.1
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@2125MeV: L=108.49pb""
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(1) Xertexsit (KTK'K*KY) distribution;

(2) K_Missing Fitting :
Signal: MC® Gaussian;
Background: Polynominal;

N=452.4 1+ 24.1
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Plots:Data@2125MeV
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Plots:Data@2125MeV
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Plots:KKPiPi MC@2125MeV
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Plots:KKPiPi MC@2125MeV
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Plots:PhiKK MC@2125MeV
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Hadronic MC @3080MeV
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Hadronic MC @3080MeV

No. decay chain final states iTopology  nEvt nTot
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18 ete” =" 4" = KYRH nha g —= 4y I (G ] 9 4 3617
19 efe” —=yf4Y - KK —at KiY — pm K+ p~ = o a” 7 K—atyy K+ 23 4 3621
20 ete = A4* A = KPR oha g — o'z 7 T K—atyyyyyy K+ 39 4 3625
21 etem —at 4t — Rpv.Rp — fafo(1710), fo — K*K—, fo(1710) = K-K*+ K- K-yK+K+ 24 1 3629
22 eteT A4t At S Rav Ry —= KPR p p? = ohe— K atyKt 54 3 3632
23 etem =t 4t = Rpy, Rp — (LT K-K+ b (1170) — p=ntp” — 777" g K-zt K+ 31 2 3634
24 ete” — 4" 4" = Rpy, Rp — ha(LIT0) K- K+ b (1170) — p"7", p" — otm o K-mwhyyy K+ 34 2 3636
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Hadronic MC @2125MeV

Mo,  decay chain final states iTopology  nEwvt  n'lot
0 ete” —a* " — Rpy. A — K K"K~ K K"K 7K'K' 3 had A4
1 ete” =4 = K'K-ata™ a K nt K 5 i 208
2 ¢tes =4 = K'K-K'K~ KK K'K' L 250 1157
3 oete =4 = Apv Ra— K'K-ata~ a K atyK! 0 213 1370
4 etem =t — o fa(980), ¢ — KT K, fu(980) — KT K~ KK K'K' i 13a L5006
5 ete” =4 " = K*R'a  K* — K'tn~ aa KYK T 109 1615
6 ete” —4* " = K*K 7", K* —Kta~ a K nt K 2 105 1720
T ete” =4+ = RAgv. Ry — KK =" K*—=K'n™ a K atyK! 4 20 L&00
8 ete” =4 " = RAgv.Ra—K'K"K'K~ K-K-qKtKt 16 Gl L=61
9 etem — o v — Rgv, By — K*K'ta- K — Kta- aoa KR L7 el 1920

W0 etem — 4 = KRG g% — ata- m K- atK 10 ) 1978
11 etem — v — By, Ry — KV p" p" — gtg- et A g 42 2020
12 ete” =gt =g nt. g = KK~ a K ntK L4 37 2057
13 ete” — 4ty — Ray, Ra — ofa(980), ¢ — KK, fy(980) — KPR~ KK yK'Kt 24 33 2090
14 ete” =% = RBav, Rqa — KYRE~ KR! 15 a2 2122
16 ete” =4 = Rav,Ra— K R'a" K*~ — Ko K7y K 22 25 2147
16 ete” =4 = K PR-7 Kt — K'qa" Ko7'k 23 23 2170
1T ete” = 4* v = KR 77" Ko7'k 12 23 2193
18 ete” =4 = K Ki7',K*~ — K" Ko7'k 34 23 2216
19 ete™ — gt — g fo(980). ¢ — KT R~ f3(980) — ata™ - K-at K1 11 20 2236
201 etem — 4t —wRH K~ w—a-atat g~ K-a"rt Kt 29 19 2255
21 etem — 4ty — Rav, Ry — KPR Kt — Kgl Fiamt b SL 20 18 2273
22 etem =yt vt = gy — KTR- KR! 21 16 2259
23 ete — oyt —R;;';-.R;;—*I{_I{'?r_?r' g~ Kotk ) 16 2305
24 etem — Yot = R, Rg — g at.g— KK~ o K- atyK 19 14 2319
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Hadronic MC @2125MeV

kMissing: Kmass[0.4,0.6]

Mo, deecay chain final states iTopology  nEwvt  n'lot
0 ele” —4*.+* = RBpy.An — K KK K K K qKTK'! 1 a09 409
1 ete” = 4* o = KTK-KTK™ K K KtK! 0 257 566
2 ete” —4* 4" = RBpy,Byp -~ K"K KK~ K K qKtK! 3 217 7R3
3 ete” — 4ty — @ fp(980), ¢ — KTK~, fu(980) — K YK~ K K KtK! 2 134 17
4 ete” =4ty = Rav Ry — KK KVYK~ K K qKtK! 4 6l a7s
5 ooete™ — 4ty — Ry, Ry — ¢fa(980), ¢ — KK, fy(980) — KPR~ K K qKtK! i 33 1011
6 ete” =4t =KK™ KK g 3 1014
T ete” =4t v* = Rav, Ry — KTK™ KK T 2 Lo1a
8 ete” =4 = Rav, Ra— K Kta" K*~ — K7 K= yypyy K & 1 017
9 egtem =t v = Kt wto—mp—a-atal mor- K-rtatyy K i 1 INES
10 etem — gt v — KPR -l K+t — Ktgt ey K L0 1 1019
11 etem — 4o — Ry, Bg — v et K- K+ta® 5 — g—mtal a-a” K- atatemmpyy Kt 11 1 1020
12 ete” =4 " = KT K ata~ap— 4 A K w ey K 12 1 Loz1
13 ete” — o Yot = K FE gt a" K~ xt ":r":-‘f‘[l L3 1 Lo22
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Chisq(Vertex Fit)

1 03 | Ratio = 0.95 —+— Data _ 70000
sum_Bin_MC = 66394 o 1
CutChisq_95=40 T MeRRKK —60000
ﬂ .I 02 L —— MC: IntegralOfEvents _: 50000
- - 5
Q -t Chisq(100):67939 140000
AT % Ratio:0.972781 ]
10 = '¥& 30000
= R L 1
— "1“ | RI] T
B I”I 0TI | —20000
ul |||| I .
1L “I \h [l .] | ||| ;II ﬁ 110000
: TR B | .|| l“ ||

0 1 00 200 300 400 500 600 700 8009001 000

2
xVertexFit(SOBOMeV)
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Luminosity: @Boss665p01

(For Cross section Measurement of ete— K*K-K*K")

Ecm(GeV) L (pb1) Ecm(GeV) L (pb})

2. 0000 10. 074£0. 00510. 067 2. 6444 33.72240.013£0. 216
2. 0500 3.34310. 003%0. 027 2. 6464 34.003+0. 013£0. 282
2. 1000 12. 167£0. 006 +0. 085 2. 7000 1. 034£0. 00210. 007
2.1500 2.841%0. 003%0. 024 2. 8000 1. 008+0. 0020. 007
2. 1750 10. 625£0. 00610. 091 2.9000 105. 2531+0. 025+0. 905
2. 2000 13.69910. 007 10. 092 2.9500 15.94210.010£0. 143
2.2324 11.856£0. 00710. 087 2.9810 16.071£0. 0100. 095
2. 3094 21.089%0. 009+0. 143 3. 0000 15.881+0.010+0. 110
2. 3864 22.549+0. 010£0. 176 3. 0200 17.290£0.011%0. 123
2. 3960 66. 869+0. 017£0. 475 3. 0800 126. 185+0. 029+0. 921
2. 5000 1. 098=+0. 002£0. 009
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